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1. ATM%‘}PTW&W??I%? -
(1) 3 ZEE W= ) T sy T

(3) sffemd® TrEw 3G B (4) SEMes 2R ARM

What is the full form of ATM ? .

(1) All Time Money (2) Any Time Money

(3) Automatic Transfer of Money (4) Automated Teller Machine

2. WGEEP ¥ Y@ [dicia Hvd THleRvay SRd ?

() & fare (2) TLEH. T
(3) e wE (4) ¥EE MEle
WGEEP is headed by which noted ecologist ?

(1) Vandana Shiva (2) N.M. Pachauri
(3) Anil Saxena (4) Madhav Gadgil

5. < s aeTE SR AT YE o 2

1) T freerd @) v freer

(3) IR, TG fUeers 4) T foees
Who caricatured the controversial cartoon of Dr. Ambedkar ?
(1) Raman Pillai (2) Shankar Pillai
(3) R. Balkrishnan Pillai (4) Rajan Pillai

4. Ifar g §iT gEr eia wE A ?
T I IFE AT ?
(1) o <@ 27 et 2012 AsT Few,  UEUAT SHE BN
(2) il @A 22 & 2012 Vs Frew, }@ TG IHE B
(3) i@ @M 25 It 2012 s FewW, o YE JET ISFE o,
(4) T Wi 27 I 2012 Vs T, @ I9 IS IFE .
Film_star Dara Singh died on
He excelled in
(1) 27 July 2012, Running
(2) 22 July 2012, Wrestling
(3) 25 July 2012, Boxing
(4) 27 July 2012, High Jump
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5. YEodsl S SR FHUEEMET 2011 Hierdl A6e TR fHeer S ?

(1) & @ T== (2) fa=m . fa

(3) d¥ . Fele 4) fasdde g

Who among the following has won the Nobel Prize for Economics in 2011 ?
(1) Eric S. Maskin (2) Christopher A. Sims

(3) Thomas J. Sargent (4) Leonid Hurwicz

6. 60 fha o TETIA 2012 TN WeT SfiREE! TH SO WRAT FEAAL HoT 2

(1) INTR <A (2) WEYR <@

(3) e FAR (4) TAYR &

Which wrestler qualified for London Olympics of 2012 in 60 kg category ?
(1) Yogeshwar Dutt (2) Someshwar Dutt

(3) - Sushil Kumar (4) Rameshwar Dutt

g, feRRy frege el YRa Tgae $or 2

(1) €. TEEuE 2) # TEEEH 3 3/

3) eI W& & (4) €. AW 3fgA HaAW
Who got elected as the President of India, unopposed ?

(1) Dr. Radhakrishnan (2) Shri Fakhruddin Ali Ahmed
(3) Dr. Sanjiva Reddy (4) Dr. A.PJ. Abdul Kalam

8. WRIdl fueR Afufm 2005 @l 9y sfuERle e w1 ?
(1) s QSR 37eey
(2) Wl AR §& AR
(3) UFU
(4) aba wd
The Competent Authority under the RTI Act 2005 is defined as
(1) Speaker in the case of House of People
(2) Chief Justice in the case of Supreme Court
(3) President
(4) All the above

9, wwﬁwwmmm?

(1) e (2) STIEEIS 3) =F=heww 4) &g
Where does the river Ganges enter the plains ?
(1) Garhwal (2) Allahabad (3) Rishikesh (4) Haridwar

oA BRI JINM / SPACE FOR ROUGH WORK
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TR SR TR dhet A I 2012 T I el

(1) Ea & et wesia & (2) YRHaN & TSt s &

(3) tesia & Wastt i f&m (4) YRHaN & UEst westa fam

Who was released as the Indian prisoner by the Pakistan Govt. in July 2012 ?
(1) Sarabjit Singh instead of Surjit Singh

(2) Surjit Singh instead of Shahanvaj Singh

(3) Surjit Singh instead of Sarabjit Singh

(4) Sarabjit Singh instead of Shahanvaj Singh

11.

WWWWM5WWWW31E@% ?

(1) @Er 17 WX, MR 2 Hel, 9 500 4, T 5000

(2) e 21 WX, M 3 WX, I 600 A, Teen 3500 fereht

(3) W& 17 WX, MAR 2 e, T 500 A, TN 6000 fEH

(4) & 15 W, MAR 3 WX, F9H 500 A, TN 5000 R

Which of the following statements is correct regarding India’s recently launched
Agni-5 ?

(1) Length 17 metres, 2 metres diameter, weight 500 tonnes, range 5000 km
(2) Length 21 metres, 3 metres diameter, weight 600 tonnes, range 3500 km
(3) Length 17 metres, 2 metres diameter, weight 500 tonnes, range 6000 km
(4) Length 15 metres, 3 metres diameter, weight 500 tonnes, range 5000 km

12, N I S qGF HOT ?

(1) FHHER desi @ &7 gt

3) w@nt faasrg (4) TEAT MR

Who is the author of the novel ‘Gora’ ?

(1) Bankimchandra Chatterjee (2) Hiren Mukherjee

(3) Swami Vivekanand (4) Rabindranath Tagore
18, deq ot S A @

(1) 21 2012 M HAR AF Far (2) 23 T 2012 ISt FEH 3 Fwenw
(3) 23 et 2012 I AR AF JAM~ (4) 25 Tt 2012 IS TR A Fwew

Captain Laxmi Saigal died on

(1) 21 July 2012 at Kanpur (2) 23 July 2012 at Jhansi
(3) 23 July 2012 at Kanpur (4) 25 July 2012 at Jhansi
14, TEH IF [EAdE D Gent wE R ?
(1) Jeaa - (2) (3) M (4) wefifed

With what is ‘Merdeka Cup’ associated ?

(1) Football (2) Hockey (3) Golf (4) Badminton
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15. ‘“HIAMT 3T HAW AT AR B A B ?
(1) W SeEH g (2) TEEE IEH 3wTR
(3) HEAE WeEH @ a1 & @
What is the original name of ‘Maulana Abul Kalam Azad’ ?
(1) Mohiuddin Khairuddin Ahmad (2) Mohiuddin Jainuddin Ahmad
(3) Mohammad Khairuddin Ahmad (4) None of the above
16. RO FEg TS
(1) 9o ST ee (2) THHT 0T TSI
(3) TsH9r, TSHHA 3T Gawee (4) TSIGW, G 0T PR
Indian Parliament consists of _ :
(1) Speaker and Lok Sabha
(2) Lok Sabha and Rajya Sabha
(3) Lok Sabha, Rajya Sabha and Prime Minister
(4) Rajya Sabha, Lok Sabha and President
17. JEads S Ium S sfifeds 2008 78 waifusw e FAE HoA ?
1) W (FEE) (2 9\ (3) YA (4)
Which of the following countries won maximum medals in Beijing Olympics in 2008 ?
(1) USA. (2) China (3) Japan (4) Russia
18, ‘TG I HHG VAT FSAT GERN Wef R ?
(1) 52 geAIgewi (2) 624l HeAgew
(3) 42 &t HEAGEI (4) 72 FH FEAGE
‘Anti Defection Law’ is related with which amendment of the Constitution ?
(1) 52" Amendment 2) 62" Amendment
3) 42" Amendment (4) 72" Amendment
19. WY THHSATUR FAHERM qual HHidN 1q 379
(1) TeHH (2) foemimt
(3) TWE =aEER HA 4) T FiE @
According to the Indian Constitution, the second rank in the Cabinet is that of the
(1) Home Minister (2) Finance Minister
(3) Minister of Foreign Affairs (4) None of these
20. 0 2012, Feara 9% @1 fasiar Hov ?

1) w9 (2 3o (3) A (4) WG
Who won the Euro 2012, Football Championship ?
(1) Spain (2) Italy (3) Germany (4) Portugal

Tl SHNIS SR / SPACE FOR ROUGH WORK
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21. TRAN G HF O FOAES) WA SFAr e

mpl el B DR e

T3] |00 | e

(1) (2) (3) (4)

Which figure will continue the series ?

mul i el I el B

T |5 0] e

1) 2) . (3) (4)

22, Gel feoiedr QT TRl TR FE WY R, TR 9R VA Wsdl e Sgd
e SIEd HaY [l sieHl g &,

(1) WA — difieArE (2) FIF — I YT
(3) wMEUR — WENIY (4) onfedr — enfam

Following two words have a certain relationship, followed by four pairs of words.
Select that pair which has the same relationship as the original pair of words.

‘ Bihu — Assam
(1) Bharatnatyam — Tamil Nadu (2) Kathak — Uttar Pradesh
(3) Lavani — Maharashtra (4) Odissi — Orissa

oA SIS SN / SPACE FOR ROUGH WORK
P.T.O.
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23. WA AGHda THUT BT 2
1) 5 (2) 10 3) 12 (4) 8
How many triangles are there in the figure given below ?
1) 5 (2) 10 3) 12 4) 8
24, SISIET A9 e, fawulien g6 Wed, g ol Ted, g A wed W YE SR
TRt HRT ?
1 = ) &
(3) femoit (4) ™
If a horse is called a tiger, a sparrow is called an elephant, an elephant is called a
sparrow, a tiger is called a lion, then which animal has wings ?
(1) Horse (2) Elephant
(3){ Sparrow (4) Tiger
25. U faf¥ty €SN ‘LISTEN'? ‘MHTSFM 3/ fafest S &1 Saharfar ‘FORGOTTEN’

? 9 fafed SEw ?

(1) GNSFPSUDO (2) GNRFNTUDN
(3) GOSFOTTEN (4) GNRFNTUDO

In a certain code ‘LISTEN’ is written as ‘MHTSFM’. How is ‘FORGOTTEN’ written
in that code ?

(1) GNSFPSUDO (2) GNRFNTUDN

(3) GOSFOTTEN (4) GNRFNTUDO

Tl DHENTS! SR / SPACE FOR ROUGH WORK
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26. feoica Ve SHUR Ue-vAlargd et - W, Wie s, wid, S

(1) Herh (2) W (3) iy 4) [

Select the word from the given group of words which defines — smart, cruel, silent,

soft. ' _

(1) Girl (2) Melody (3) Smell (4) Brave
27. YA e Sfawr erafaom wafg s ?

Y¥T 3FHA

S APl :

o, O
1 aw
M B A r

(1) (2) (3) (4)

Which alternative shows the mirror image of the figure ?

/LO

Question figure :

AnSLCUS') figures : | Q Q Q
]/ /_J | /__/ -/
[ [\ [\

(L (2) (3) (4)

1]
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28.

10 A
mmwmmmwwmwmww@
@ St fraet 27 9.

(1) 64:8 @) 125:5 " () 135:15 (4) 729 :81

Following question consists of a pair of numbers that have a certain relationship to
each other followed by four other pairs of numbers given as alternatives. Select the
pair in which the numbers are similarly related as in the given pair 27 : 9.

(1) 64:8 (2) 125:5 3) 135:15 (4) 1729:81
29, sawa3sfafe =_ d’.
(1) 555 (2) 535 (3) 545 (4) 565
Five hours 33 minutes = ________ hours.
1) 555 (2) 535 (3) 545 . (4) 565
80, YW GacEn U R, IO @ WAV 39 AR, T HaAd T@El I9 E. WK @

ASAIET IT IR, AT FAld FEH BT IR ?
(1) &y @ Fad 3) g (4) 3@
Sunil is taller than Kuntal. Arun is taller than Parvesh, but not as tall as Kuntal.

Pramod is taller than Shreejit. Who among them is the shortest ?
(1) Parvesh (2) Kuntal (3) Sunil (4) Arun

31.

aﬁaﬁmwmwww“hmammw@w
IR, W W 1 et A F 2

(1) 2) T

(3) W& (4) iR T TR

Introducing a woman, a man said “Her husband is the only son of my father.” How
is that woman related to the man ?

(1) Wife (2) Husband
(3) Brother (4) None of these

TEEIT SHMISI I / SPACE FOR ROUGH WORK
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32. WAl PN THUT FEHED0 At IR ?
1) 8 (2) 12 (3) 16 (4) 20
How many right-angled triangles are there in the figure below ?
1) 8 2) 12 (3) 16 4) 20
33. Greerdsd fadma e s, _—
(1) o — Hex 2) T — feEH/EREie
3) TEE — fHanm (4) TFs — TIRGHRT
Find the odd pair out.
(1) Length — Metre (2) Density — Kilogram/Square metre
(3) Mass — Kilogram (4) Area — Square metre
34, T T TGAUE A(YF Q. UgEd a9 ST IR, FrAe™ a9 e
YT T AEEURT FH AR, W A FAId S TS HIUT IR ?
(1) a5d (2) T (3 g 4) =R |
Rama is heavier than Yakub. Mehul is lighter than Anthony. Sunil is heavier than
Anthony but lighter than Yakub. Who among them is the heaviest ?
(1) Yakub (2) Rama (3) Sunil (4) Anthony
35. o ¥ sfiaerr gue TR AR, U FHR V&N U TRE IR, IR Sifaeren vt

FTr ? |
(1) Wit 3nfor e (2) Wit 3for 84

3) W nftr FeEE | 4 0 T T

Baiju is twice as old as Akhil, but twice younger than Fakir. Clive is half the age of
Akhil, but twice the age of Don. Which pair is the oldest and the youngest ?

(1) Fakir and Akhil (2) Fakir and Don

(3) Fakir and Clive (4) None of these

ST SRS 3T / SPACE FOR ROUGH WORK

P.T.O.
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36. mewmmwmm

< - —o0 ) )
< <« < < o
o o —0 ) )
0 ) o < <
o] < <€ <€ <€
—o0 —o0 —o0 o———o
—o  —] —o0 o—
S — —o0 o——
—— «—— —0 o——
«-—— «— «—— —_
«—— «— «—— >
(1 (2). 3) (4)
Select a figure to continue the series.
< <« 0 o o
<€ < <€ <€ O ,
o o o o o
) ) o < <
o <« < < <
— 0o —o0 —0 o——
— o0 ——o —©o o——
—_— -— — 0o o——
— — —0 o——
— «— «—— —_—
e — «— _—
(1) (2) (3) (4)

87. YyAfaere S &g Asd ?
2,5, 10, 17, 26, ?

(1 73 : (2) 36 3) 37 (4) 63
Replace the question mark.
2, 5,10, 17,26, ?

1)y 73 (2) 36 (3) 37 (4) 63

T SIS 30 /| SPACE FOR ROUGH WORK
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13

@?ﬁaa@ﬁﬁmﬁmmmaﬁ?

5 3 1
lolFoNG}
2 4 5 :

WOO

1 6 @ 8 3 5 @
What will come in place of the question mark in the figure below ?
5 3 1
JIONNOINO!
2 4 5
1) 6 (2) 8 3) 5 4) 7
39. WA HITHA-NTATGrAT-SIN HIUT T A5 ?
0 63 511
215 ? 07
26 342 124
(1) 80 - (2) 625 (3) 1728 (4) 720
Which number will replace the question mark in the table below ?
0 63 511
215 | 7?7 07
26 342 124
(1 80 (2) 625 (3) 728 (4) 720
40. TS Hom TR e TREEEE a6 w2
1) fr (2) STHTEIE 3) s (4) Qv
Find the odd one out.
Gir, Jafrabadi, Dangi, Devani
(1) Gir (2) Jafrabadi (3) Dangi (4) Devani

Tl SHRS! ST / SPACE FOR ROUGH WORK

P.T.O.
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41, TH HAEM 12 TENL TEA FE G167 HIEedl. 13 &1 A @ 52 91T Hewdl. TS
o SO 2 g S el W13 = SAMG @El gl fmd ?
(1) 50 gmEn (2) 52 g1 (3) 76 Hdl (4) 78 gmEr
After playing in 12 innings, a batsman scored 52 runs in the 13th inning, thereby
decreasing his average score by 2 runs. What is his average after 13 innings ?
(1) 50 runs (2) 52 runs (3) 76 runs (4) 78 runs
42, S 2—1— + X+ 1l =51,Tﬂx=?
3 6 4
3 1 1 1
1) 1= 2) 2= 3) 2= 4) 3=
(1) 1 (2) 1 ( )' 2 (4) 2
If21 + X + 1l =5l,thenx=?
3 6 4
3 1 1 1
1) 1- 2) 2-— 3) 2= 4) 3=
(1) 1 (2) 1 (3) '3 (4) 2
43 J12x12x25 — /20 x 20 x 4 _ 5
\/%—2><52
1) 4 @2 20 3) 15 4) 5
J12x12x25 — J20x 20 4 _ 9
\ﬁ—2x52
1) 4 (2) 20 3) 15 4) 5
44. X TN o giieuE @ BN S5 2 RUR <P % US4 F P TV 4 IR, W

JUTT RO SN HF WA ?
14 +48-8x4+5="?

(1) 1865 (2) 0 3 2 (4) 80

[FE AR .3, 6L

If ‘4’ means ‘<’; ‘“" means ‘+’; <’ means ~; and ‘+’ means ‘+’, then what is the value
of 14 -48 -8 x4 +5=7?

(1) 1865 2) 0 @) 2 4) 80

AT NS SN / SPACE FOR ROUGH WORK
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45. ‘A & FW 10 fEud f A o9 FW B’ 12 Gawa 7 ¢’ 15 fegwa gof Fam ® A,
BT C faega o9 sm Tl feaam pof e 2

(1) 3fe=m 2) 4fEw (3) 5 femw (4) 6 feaw

‘A’ completes a work in 10 days, while ‘B’ and ‘C’ complete it in 12 and 15 days
respectively. In how many days can A, B and C together complete the work ?

(1) 3 days (2) 4 days (8) 5 days (4) 6 days

46. el I fhua R otde ?
-(0-382)% - (0-618)3
- (0-382)(0-382) + 0382 x 0-618 — (0-618) (0-618)
(1) (0-236)3 (2) 1-000 (3) 1-010 (4) - 0045
Simplify the following :

—(0-382)% — (0-618)3
—(0-382)(0-382) + 0-382 x 0-618 — (0-618) (0-618)

(1) (0-236) (2) 1-000 (3 1-010 (4) -0-045

47. S 5<x<7, W
1 x-5)x-7=20
2 (x-5) (x—7)>0'
@) x-5Ex-7<0
@ x-5&-7<0
If 5<x<7, then
1 x-5x-7=20
2 x-5x-7>0
@) x-5x-7<0

4) x-5)x-7<0

TEAT SIS SIRT /| SPACE FOR ROUGH WORK o
P.T.O.
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48. T IR GeAdS Hd] JT §TBS THH AR ?

12
oLk e O
22 12 22
(37) () () (®)
M @EaIEE @ @@ 3) @) 3 (s) 4) (3) 3 (3)
Which two figures out of the following four have the same area ?
12

. \
DN e O
22

22 12
(A) (B) ‘ © (D)
1) (A)and (C) (2) (A)and (B) - 3) (B) and (D) (4) (A) and (D)

49.

%ﬁmﬁww%aﬁamwg.mﬁamm?

7 7
3 - (4) 3

(D 4

(2)

S TN
NI

The product of two fractions is %E and their quotient is %Z The greatest fraction is

O @ @ @ <

(S IRUN
o YN
RN

50.

8 U A 5 TRES e 3R, 5 GWECE! i 3 s et IR, 4 3nsEEl fHHd
8 I TSl AR, S 3 I o T 36 WA, W WS AR fHua fedy ?
1 z9 @2 T12 3) %6 4) %15

8 oranges cost as much as 5 apples, 5 apples as much as 3 mangoes, 4 mangoes as
much as 8 pineapples. If 3 pineapples cost ¥ 36, then what is the cost of an
orange ?

1 %9 2 Y12 3) 6 4) T 15

e DHNTS! SR /| SPACE FOR ROUGH WORK
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51. Greliods gHia s,
¥, TERTS SR § WS UE "I ST
¥ dOME § TR IR, ﬁmmmooﬁﬁ%aﬁwﬁu%ﬁmm
IR IR,
&, FAE, TSNS A0 FATE €N R Qi Regarer afer anfor e fawmadf amme
fegm oTRA.
v wpl vYerr Rieer &1 St onfor firem W@ 9 Sude @R 3.
(1) FAMrg (2 &AM (3) W & 4) & S
Identify the incorrect statement from the following :
a. The Gawilgad hills are part of Satpudas.
b. The Toranmal is a plateau, a long narrow table-land 1000 m in height and about
41 sq. km in area.
c. Nawegaon, Palasgaon and Pratapgad hills are located along the South and
South-Western border of the Satara district. '
d. The entire district of Bhandara falls in the drainage area of Wainganga and its
principal tributary, the Bagh.
(1) aandb (2) candd (3) Onlyc (4) onlyd
52. Grele faumids Hord fFm s oRa 2

3. UERIETSAl IW 9IIGH 20° 30' S 8 g .

¥, TERIEEN J§ WPIGH 80° @ ¢ 3@EW W, |

T HOYEE 8 1646 . I IS AR SR WEAEiTS) WeRwW fud IR,
(L FAmT (2 T MTF 3) 3 3T & @) a0 wd

Which of the following statements are correct ?

a. The 20° 30’ N latitude passes through the Northern part of Maharashtra.
b. The 80° E longitude passes through the Eastern part of Maharashtra.

c. Kalsubai with a height of 1646 m is the h1ghest peak in Northern Sahyadri in
Maharashtra.

(1) aandb (2) bandc (3) aandc : (4) All the above

TN BT ST / SPACE FOR ROUGH WORK
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18 A

WP et SSEaR el H9 e g9 fae.

(1) fogeey, 9o, gayl, qEEeyeR

(2) TN, AEERYR, faEeew, qwyl

(3) WMV, dIuT, fageew, wwy

(4) Ty, fadey, dRT, AeEeyaR

Arrange the following peaks of Maharashtra in an ascending order of their heights.
(1) Chikhaldara, Torana, Saptashringi, Mahabaleshwar

(2) Torana, Mahabaleshwar, Chikhaldara, Saptashringi

(3) Mahabaleshwar, Torana, Chikhaldara, Saptashringi

(4) Saptashringi, Chikhaldara, Torana, Mahabaleshwar

54.

WA I A, AR WO, 9@ d ® TANH AR, e wew o somd
(1) daon — @i @) | — Fom

3) et — THa (4) qd— Fom

Maximum length, low speed, shallow and wide river bed, creating delta region, are
not the characteristics of

(1) Vaitarna — Savitri (2) Bhima — Krishna

(3) Godavari — Narmada (4) Tapi — Krishna

55.

TR A1 TR GaTHA STRERIEAT qaa o §H 3T6d ST

(1) SEHIRERE 39 (2) s

(8) WSS ST (4) SR IME

The climate of Ratnagiri is even throughout the year, as compared to the Amravati,
because of

(1) height from mean sea-level (2) nearness of sea
(8) availability of ocean currents (4) effect of sea waves

56.

T s S S, TE T S A o SO YR g T qEEe ge g
RICIE 3 UL

(1) TEHHrRE faaita (2) STEAHEHA B FHIT

(3) dffsamrels =™ sHOT (4) TUIER HEHERTT B FHIOT

Air goes upwards, air pressure decreases the air scattered in the atmosphere and the
temperature decreases. This phenomenon is known as

(1) Negative lapse rate , (2) Isothermal lapse rate

(3) Adiabatic lapse rate (4) Normal lapse rate
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57. aifie T e qUNE S S, A TSi=HE 50 A Ve, TraETeaTd Aoy e
THIUT 50 TIHUET FHI, T IFBAM 10 TIhoen w4, & A= __ gamH ey
ERERIGE
(1) S9T 37 grEHrE (2) IV Y& TEEE
3) 37ed-3TR EwE (4) 3W7 aul-a gEHTeR
High annual and daily temperature range, annual rainfall less than 50 cm, absolute
humidity in rainy season less than 50 percent and in summer season less than
10 percent are the characteristics of climatic zone.
(1) tropical wet monsoon (2) tropical dry monsoon
(3) tropical semi-wet monsoon (4) tropical rain-forest monsoon
58. T 2011 A1 YoAHTAIER Giefierdd I - (Nogaimed U1 8% 5% vam Fit
e SamheEt IHeT 3R ? |
(1) fve anfor Qo (2) MG ST TR
@) sl snfer gereon (4) femet snfor 42
According to 2011 assessment, which of the following two districts have less than 5%
their area under forest cover ?
(1) Nashik and Pune (2) Jalgaon and Akola
(3) Aurangabad and Buldhana (4) Hingoli and Dhule
59, IWiee I WEHW faQRY B HeA A AY TR FeA IR
(1) @i | 2 T fed
(3) TR wEd (4) HENE U3K
Erosion of primary basalt rock has given rise to black soilin _______ region.
(1) Konkan (2) Eastern Vidharbha
(3) Sahyadri mountain (4) Maharashtra plateau
60. R U, Iv9 qUAM, T HH wes _ fremdt age .
1 9 (2) FH (3) e (4) R

High amount of rainfall and temperature, sand mixed soil are favourable to

(1) Sugarcane (2) Cotton (3) Banana (4) Coconut
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20 A

Tefeda HoE v@iE I TEE e 9 e,

1O TRY — v I 8 aed

(2) wEaEl — i swgR vl fresd

(3) faed — SfFRR Scaeswar aed

4) Sw — SR §S S 8

Which of the following options is suitable for terraced farming ?
(1) Khandesh — To increase area of fertile land

(2) Marathwada — To obtain maximum water for crops

(3) Vidharbha — To increase productivity of soil

(4) Konkan — To decrease the soil erosion

62.

eareA 39 ST T SR AT SR S T S 90T SFEar e T I8
3R,

(1) G (2) e 3) fas (4) R

The low height area in between high mountain and its ranges is named as
(1) spur (2) cliff (8) pass (4) peak

63.

el Roemis Ht 9 83 Hewrr @t wt wew w2

¥, IR — TR &7

g S — et e

% g9 — doaw &

3. TS — A &

§ O — U 8

%, oot — fawer 87

T WU — A 8 ‘

LV T E (2 FAAMS (3) @ smfor 7 (4) & 3nfor 3

Which of the following areas are not known for coal mines ?
a. Chandrapur — Ballarshah area ‘
b. Dongri — Buzurg area

c.  Ghugus — Telwasa area

d. Rajura — Wun area

e. Sasti — Rajura area

f.  Sitasaongi — Chikala area

g. Warora — Manjari area .
(1) bandf (2) aandd 3) candg (4) cande
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21 WOoo

Gfees STk SEd @elieiel S faym et FART ?

3.  EESTR fSear o ufew WeNpie walq HiaT e ST,

¥. SEASTR fSel ¥ WeNyKie wafa mer fSear o1,

% Yer fegr @ facuidar wafa we@ S om:.

T Hu3 YR AT e ITTR FEAr HeN et 8 W wald @eH el .
(1) 3 37T & S 3R (2) & T T S IR

(3) 3 M7 & sV RA (4) T ¥ TR 3MRd

Which of the following statements are true ?

In case of geographical area

a. Ahmednagar is the biggest district of Western Maharashtra.
b. Ahmednagar is the biggest district of Maharashtra.

c¢. Bhandara is the smallest district of Vidharbha.
d

Except Mumbai city and Mumbai Suburban, Bhandara is the smallest district of
Maharashtra.

(1) aand b are true (2) candd are true
(3) a and c are true (4) . All are true

65.

Greleds! TR HUET TR AT ARHEITIR 3acl FAM AR 2
TaE, WA, [0, e
Tes, qO0, 3fTeTE, WemR
g, SirE, g0, Wy
Arrange the following cities of Maharashtra in descending order of their population ?
(1) Mumbai, Solapur, Pune, Aurangabad '
(2) Mumbai, Pune, Aurangabad, Solapur
(3) Pune, Mumbai, Solapur, Aurangabad
(4) Mumbai, Aurangabad, Pune, Solapur

66.

T 2011 =1 SFHVHIER, anifor faegai=t 99 2001 - 2011
el EvEis AHEE e @ 2% W 6 AR,
(1) @uf 37fer geremon @) T anfer R
(3) WER AT Tl (4) Tui o7feT G|
According to 2011 census, and districts have less than
2% decadal growth rate of population in 2001 —- 2011.
(1) Wardha and Buldhana (2) Ratnagiri and Sindhudurg
(3) Chandrapur and Ratnagiri (4) Wardha and Satara
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67. 2011 & SUHIER HUA FROMR HallHd iR AT T HENIETT
B ? ,
1 fgo 2) T 3) TR (4) faam

- According to the 2011 census, which is the main factor for high migration in
Maharashtra ?

(1) Education (2) Business (3) Employment (4) Marriage

68. Mol famiienr qomTens TR hefl ST9dT HIVedl JQumel I Huer ufyeiesd [dae

e ?
(1) RPN YR W (2) WU W
(3) WEYET R 4) TeEd TR @R |

Which of the following regions shows progressive increase in height from West to East
if a comparative study of these regions is done ? ‘

(1) Maharashtra plateau region (2) Konkan region

(3) Satpuda region (4) Godavari river basin

69. WWWWWWW?

1) fegee (2 fa (3) fa@sa (4) dg=
Which type of settlements are found in the mountainous area of Sahyadri ?
(1) Scattered (2) Compact (3) Fragmented (4) Composite

70. AR AR ¥ A EO, T SO QAN arefl, qodrl aed e S,
T U I VR efau Aet. el Hiowr g s q e 2
(1) fafguet fafiet @ (2) qamarE iR O
3) W Ffd o (4) T AR G 0

Reduce the flow of running water, control the floods on roads, fulfil the need of water,
increase the level of ground water in a city. Which is the most suitable option of the
following to achieve the above ?

(1) To construct wells ‘ (2) To construct tanks

(3) To create lakes (4) To conserve the rain water
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23 WO0O

“Hifedt SMUHR=T FFQT 2005” A VSR U Y ATET ?

(1) dEEd FH

(2) UEAR TN Iwafae fmter o

3) U7 anftr g wifed! SR TreA SO e w0

(4) ARG faReen 6 e Syl Afed Tafaw wge wo

Which of the following is not an objective of the “Right to Information Act 2005” ?
(1) Curtail corruption

(2) Make Government responsive

(3) Make provisions to establish/constitute State and Central Information
Commissions

(4) Make provisions to give all the information sought by the people

72.

Trelierts! Hivrer faeamed SRara Feieg aeds o famer o &, — @ g
HTCT FRONGRT IEIERS e Haeamed fafyy fofamda ol sRa o aeem!
miger & mfedt R eifufrem, 2005 oiwla oot o% v &Y ?

(1) TEW. e f4. 9RdE |99 TS

@ fooew FFem B faed fome! fr. o W T

(3) SW YU WHR §. T ARFA

(4) G e fa, g s

In which of the following cases did the Supreme Court of India hold that — ‘the
information relating to judicial decisions as to why and for what reasons a judge had
come to a particular decision’ cannot be supplied under the RTI Act, 2005 ?

(1) S.P. Gupta v. Union of India

(2) People’s Union for Civil Liberties v. Union of India
(3) State of U.P. v. Raj Narain

(4) Khanapuram Gandaiah v. Administrative Officer

73.

T AR S S e TeT AR TS e W TS I 2
(1) Fe 19(1) (31) @ T 19(1) (@)
3) FH 19 (F) _ @) Fa9 191 (3)

The fundamental importance of Right to Information Act is embodied in which
provision of the Indian Constitution ?

(1) Article 19(1) (a) (2) Article 19(1) (b)
(3) Article 19(1) (¢) (4) Article 19(1) (d)
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74, X T VNS A w1 ang FRoniErE wiedt Quarer ot Aenen fher 8
ﬁwﬁamww@mm, W 9 G < AvIE I
?

(1)
(2)
3)
(4)

ZeT < Wyof e T 10,000/- Y& SR 9
g2l = dyol W T 15,000/ Ve ST ey
deT < WUl T T 20,000/- VT SR THET
<1 < AU T T 25,000/ Ve ST 6T

What is the penalty to be imposed, if the State Public Information Officer without
reasonable cause refuses to receive an application for information or knowingly gives
incorrect or misleading information ?

ey

Total amount of penalty shall not exceed ¥ 10,000/-

(2) Total amount of penalty shall not exceed ¥ 15,000/-

(3) Total amount of penalty shall not exceed ¥ 20,000/-

(4) Total amount of penalty shall not exceed ¥ 25,000/-

75. foum -

&1, Wifed SR Sfufm, 2005 =41 woH 8 T Hfgd! SUTHUAT Y JUATEAT AR
TS el IR, |

9. Qv Mo SR s et A Sue Seam gt feadsy

(1) fagm ‘o7 g wifedl SYSHUIARE Y UIRAT FEA e T foum T @ e
TR 3R

2) faaa ‘o7 NN 3R W foum ¥ ? 9% R

3) fEm o7 ? 9% o WY faym ¥ ® SO IR

4) VA A TEE SRA

Statements —

a. . Section 8 of Right to Information Act, 2005 provides for exemption from
disclosure of information. ,

b. A public authority may allow access to information, if public interest in
disclosure outweighs the harm to the protected interest.

(1) Statement ‘a’ is about exemption of right to information and statement ‘b’ is
exception to those exemptions

(2) Statement ‘a’ is correct but statement ‘b’ is wrong

(3) Statement ‘a’ is wrong but statement ‘b’ is correct

(4) Both the statements are wrong
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76. Y& Hifgd 3MYE i ARG 0N HgA ol Sd ?
() R S T

@ o T S ae ;

3) AHER- e w W

@) TP 3 YomE, FE e o 9 deud-9 fBld oA e frereiger

Who appoints the Chief Information Corﬁmissioner ?

(1) The President of India

(2) Prime Minister and Union Cabinet Minister

(3) The leader of opposition of Lok Sabha

(4) The President on the recommendation of the Prime Minister, the Union Cabinet
Minister and the leader of opposition in the Lok Sabha

77. Wi SR S
9. SEuEsien feuuyr fear swifttg s B
% 9 ST T H.
(1 Femorag (2 FFATF (3 HFANET (4 WA wd
Right to Information means
a. Inspection of work or document.
b. Taking notes or certified copies of records. .
c.  Taking certified samples of material.

d. Obtaining information in the form of diskettes, floppies, or any other electronic -
mode.

(1) aandb (2) a,bandc - (8 abandd (4) All the above
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26 A
ifeedrer SfyeR s 2005 <A1 FAW 20 TOR I AIfed! SHHRATET Grefada S
FOTEE 8 &S ot ?
(1) wifeh fresvamEmEmar o WieRvaE qeE HROMYEE TR fEears
@) faffy e a=q wied a7 Feamge
(3) TEHEA Hifgeiel HHTU AFRTAAS
4) = wd
On which of the following grounds can a penalty be imposed on Public Information
Officer under Section 20 of the Right to Information Act, 2005 ?
(1) Refusing, without any reason, to receive an application for infprmation
(2) Not furnishing information within the time specified

(3) Denies information with malafide intentions
(4) All the above

79.

ST AdreAn SfIEe A wfitaet S

& TR GO WHUAN AT W e s S Ak 30 TRe e,
g qgfg faer -

(1) I /R F T

2) F WX I’ I

(3) [E TH

@ I I&

Whenever information is being sought under the RTI Act

a. You do not have to give reason.

b. No personal details are required to be given but those required for contacting
you. '

Choose the correct option :

(1) ais correct b is not

(2) b is correct a is not

(3) Both a and b are correct
(4) Neither a nor b is correct

80.

fid SifYeR FEEA-TE) SR T T G ke A anfay o, W

firesfauart %@ d@ wAlQ R ?
1) 30 feom (2) 40 f@w | (3) 90 feaw (4) 120 fea@
Under Right to Information Act, what is the time limit to get information if the

interests of third party are involved ?
(1) 30 days (2) 40 days (3) 90 days (4) 120 days
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81. WERINT SMfarEfEmarar a2aaiel v datia Ted ?

3. SR ST ae g, OaE 9™

% ANER WSH T FIEE I

gyt faer

1 9, % 2 3, = 3 A T (4) 9, @

Who were not related with tribal development movement in Maharashtra ?

a. Senapati Pandurang Bapat b.  Anutai Wagh

c. Tarabai Modak d. Keshavrao Jedhe

Choose the correct option :

1) b,d (2) a,c 3) a,d (4) b,c
82. WeNe WAl Siedl alal :

W fH I el S g

§. fowrmeEt ded I fqeaeh @Efer

F TEL 111 AR Hee

5. fowEger sEER IV. WAN @

g w3y e

H q % g

1 I 1w I II

2 Iv 1III II I

(3) III I v II

4) II III v I

Match the following events : ‘

a. Maharshi D.K. Karve I.  Opposition to private property

b.  Vishnushastri Pandit II. Remarried to widow

c. R.D. Karve III. Punarvivahottejak Mandal

d. Vishnubuva Brahmachari IV. Samaj Swasthya

Choose the correct option :

a b c d

1y m 1w I II

@2 Iv 111 II I

3 III I v II

4 I 1III v I
83. TS UG ArAT IV WHISG TERN e Togr ?

. THaYH 9 ¥ THEE W

& HUS! I TERE 9 T IHT w9

a7 ggig fAger -

1 A, 3, € 2 A, 49, @ 3 49, &, T 4) A, 9,
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With which social institute is Dadoba Pandurang not related ?
a. Manavdharma Sabha b. Paramhansa Sabha
¢. Marathi Gyan Prasarak Sabha d. Atmiya Sabha

Choose correct option :
(1) a,c,d (2) a,b,c 3) b,c,d (4) a,b,d

84, fefiat 1920, = AMEANT FATEA YAV WEHR Tosded FEd SifqH fvig &
A B ?
(1) 3G HiEe e TR (2) AR T FE A
(3) T A Fe AR (4) T SgHA HR gl

In December 1920, at the Nagpur session of the Congress, what was the final decision
regarding Non Cooperation Movement ?

(1) Resolution was not tabled (2) Resolution was not discussed

(3) Resolution was not passed (4) Resolution was passed with majority

85. IV WM IR TSae Agd F 2
(1) FHAE T g FAGHT SRR
@) ¢S g
(3) T ge g
(4) HHTR g
. Which party led the Peasant movement ?
(1) Communist party and Left Front of Congress
(2) Trade Union

(3) National Trade Union
(4) Labour party

86. TSI YME WEWISi-I WISl YURUATEIS HIUMl G aier @ieR f&HR Har ?
(1) UKl QHROT § Sfedrean guron
(2) FEUT § FEUIGReAl FHNOT
(3) i & 3ffeardian fomrg
(4) A T

Which two things did Rajarshi Shahu Maharaj adopt to reform the society ?
(1) Reforms of non-Brahmins and reforms of Dalits

(2) Reforms of Brahamana and non-Brahmins

(3) Development of Dalits and Adivasis

(4) None of the above
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87. “fovd A NERATT’ WU RN G FeAl RVl TG SeA@ el Sat ?
(1) s e (2) TAH-IET SME
(3) HEIVTE HEE (4) T ™
Which book of Mahatma Phule is recognised as “Manifesto of Universal Family” ?
(1) Sarvajanik Satyadharma (2) Shetkaryancha Asood
(3) Brahmanache Kasab (4) Trutiya Ratna
88. TG T WeriteAr Mafie oo GROT WERERA YOG HOT B 2
(1) TN g "eNs (2) WIANRE TMIFAE
(3) YA & wers ~ (4) Yd yfafed
Who was the pioneer of free and compulsory primary education in Maharashtra ?
(1) Rajrshi Shahu Maharaj (2) Sayajirao Gaikwad
(3) Pratap Singh Maharaj (4) Pant Pratinidhi
89. Tile "l HIATRY HH €T :
O e |/ g, SFHA 9
F.  FAEE HHIS 3. o
a7 gy faer
1) 9, &, A, € 2) &, 49, 8 A
@) A, &, 5 49 4) A, s 49 &
Arrange the following events chronologically :
a. Poona Sarvajanik Sabha b. Deccan Sabha
c. Satyashodhak Samaj d. Arya Samaj
Choose correct option : ‘
(1) b,c¢,a,d 2) ¢ b,d,a
3) a,c,d b ) (4) a,d,b,c
90. YUYW WENEI SISt Hoaqd SR Mfeardt T HIvr & 2

(1) st R
(3) 3IWI TEF - (4)

@) gt s

3TN RS

Who was the Adivasi leader who challenged the British power in Western

Maharashtra ?

(1) Ramoji Shinde (2)

(3) Umaji Naik 4)

Bahirjee Naik
Ukhaji Naik
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91. Gelieid®l HoE NS gHiE? AR 2

(1) TR SR aeY —  ufeelt gy

(2) SR AT e —  FANE TeAgERN
A/ I TS A U

(3) IEVYHhT THNER VSRl GHEY —  ufgeht gt

4) FEE A

Which of the following is wrongly matched ?

(1) Allocation of seats in the Council of States — First Schedule

(2) Parent or guardian to provide

opportunities for education to his child

(8) Socialist word included in Preamble

(4) None of the above

— Eighty-sixth Amendment

— First Amendment

92, NS W& :
A Yo AR
9. WRaET gt
&, WHORNS UPTdT e ween
LBIETG)
T YRl REAEare

i) T & T
n 1 v I IT
2 1II III v I
3 1Iv I II III
4) III II I v
Match the following :
a. Fundamental Rights
b.  President of India

c. Council of Ministers to advise
the President

.d.  Attorney General of India

a b c d

(1) I A" III II
(2) II III v I

3 1Iv I II III
4 III II I v

IL.

III.

IL

IIL

6HetH 52
&HeH 74
&HetH 76

geaer faau s

Article 52
Article 74
Article 76

Part III of the Constitution
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93. 3YUU] FHUA IMhgT TGAY HeAoH WA EHR el 37 ?

(1) gie (2) ¥ (3) sffeefer (4) FAsT

From which country have we adopted most of the constitutional traditions ?

(1) England (2) France (3) Australia (4). Canada
94. foum ofeh fraeve deavamd) feam et 99 srgmE ?

(1) 20 5 (2) 259 (3) 308 (4) 35T

What is the minimum age required for contesting election to the Legislative Council ?

(1) 20 years (2) 25 years (3) 30 years (4) 35 years
95. THE AN =7 Hewld 3.

(1) F5-TT Hoy (2) Togor

(3) frarm 4) THD

Sarkaria Commission deals with .

(1) Centre-State relations (2) Education

(3) Elections - (4) Drought
96. WM WAYFK YRa= JUiA 3 Fel .

(1) FEHTH (2) TISE (3) TSgi=n € (4) THHA T

India is described as in Indian Constitution.

(1) State (2) Federal State (3) Union of States (4) Unitary
97. Waled AR R AR TR AT TP FUME Feon e ?

(1) da9eE | (2) HEEE

(3) TAHH EAH (4) SYET

Who does the President consult to appoint other judges in the Supreme Court ?

(1) Prime Minister (2) Chief Justice

(3) Speaker of the Lok Sabha (4) Vice President
98, 42 T YA TERITHR IRk HivTeal Vearan S{awia H0a e 2

(1) Ry T 2 s T

(3) FUEEF: TT (4) 3MYMs =T

As per 42°¢ Amendment of the Constitution, which of the words is added in the
Preamble ?

(1) Secular State (2) Religious State

(3) Minority State (4) Modern State
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(1) 98¢ 2) frEeE 3w ‘
(3) Yavue (4) faa smam

decides the sharing of revenue between the State and Central
Governments.

(1) Parliament (2) Planning Commission
(3) Prime Minister (4) Finance Commission
100. ST IR Jd WY FHell MR,
(1) TSI ged aw (2) ANREHE TAYd g
(3) TSIl g GOTd iy dad (4) e Ao sfyER 8
The Right to Work is described in
(1) State Fundamental principle (2) Fundamental Rights of citizens
(3) Directive Prinéiples of State Policy (4) Subordinate Court
101. Faed =grareEr Afuwiar s e ?
(1) e (2) (3) Hoomerdt (4) o wd
What is the Jurisdiction of the Supreme Court ?
(1) Original (2) Appellate (3) Advisory (4) All the above
102. Aricyd qcd 4 gayd e gi=a gue fmfn e

(1) e FAE ISR AT ad

(2) HoMa NS e oA A

(3) WreR® T MET AT Ad

(4) FHRTTHI

If there is a conflict between Directive Principles and Fundamental Rights
(1) both are considered equal

(2) Fundamental Rights get precedence

(3) Directive Principles get precedence

(4) it is decided on case to case basis
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103. 44 3 YA TERNTHR WIETIH HIOTAT JAd SUHR TSI e ?

(1) TEHdE IR (2) W= SEFER

(3) vUIERS EER (4) Y Sy

Which of the following Fundamental Rights is included by the 44tP Amendment of
the Constitution ?

(1) Right to equality (2) Right to freedom
(3) Right against exploitation (4) Right to property

104, YO 899 @& WA HioTen e S 2 |
(1) 98 (2) YawyE (3) uwale =g (4) TEE

Who is the guardian of the Fundamental Rights included in the Indian
. Constitution ?

(1) Parliament (2) Prime Minister (3) Supreme Court (4) President

105. 9% TN A9 ATt ETIHAT .
(1) W& TSA=Al Wieal Sghde!
(2) W ATl R agHaE
(3) o= faww agwar
(4) TE= WA SgHaT
What is required to change the name of a State ?
(1) Simple majority of a State Assembly
(2) Special majority of a State Assembly

(3) Special majority of the Parliament
(4) Simple majority of the Parliament

106. HIUTET MHEA HiTHMG qerd Haed agd 0@ el ?

(1) e (F.UE.T) (2) %i¥ (3) s (4) A
From which country are Fundamental Duties adopted in the Constitution ?
(1) USA (2) France (3) England (4) Japan

TAT DHRNS! 3 /| SPACE FOR ROUGH WORK
P.T.O.




WO0O 34
107. EEAdS HIVTE SR e TEEEA FRIEN IS g kS WA A7gt ?
(1) TEgw (2) TS
(3) YA faeve g (4) valew <AREARIT —EE
Who among the following eannot be removed by impeachment ?
(1) President ) (2) Governor |
(3) Chief Election Commissioner | (4) Judges of Supreme Court
108. digell SR et SR,
(1) 1955 (2) 1965 (3) 1958 (4) 1951
First amendment to the Indian Constitution was made in
(1) 1955 (2) 1965 | (3) 1958 (4) 1951

109.

TRA SEATHHAE e

1) VS FERTESH fagad g
(2) SHdHET W FEasad B
(3) WA e SO B

@) T 3T e sareE 8

Members of Constituent Assembly of India were
(1) elected by the Provincial Assemblies

(2) elected directly by the people

(3) nominated by the Government

(4) only the representatives of Princely States

110.

I frTaeR wEe A SR T 3T,

(1) &% T& (2) WA= FIEE

(3) TSF &R | (4) FZ 9 TH G&R

Who have the power to make law on residuary subjects ?

(1) Central Government (2) Supreme Court

(3) State Government (4) Central and State Governments
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111. Grefdat wafq SR d-ediey Qo fagiar St 2
(1) LS PR | (2) FISTRNNA Facd
(3) ST HIR (@) T FIHd A
Which media provides maximum bandwidth ?
(1) Twisted pair (2) Co-axial cable
(3) Optical fiber  (4) None of the above
112. www T ST Hied T MR 3R ?
(1) e TR (2) FARE TR
3 M-I (4) TR THE AR
www is based on which model ?
(1) Local Server (2) Client Server
(3) 3-tier - (4) None of these
113. Tsaian fafey iR Mear oo STTe STV diad & W= s S

THAT & T RSavaws! Ted a9 YA 2

(1) wifafear afm

2) SR Eﬁaﬁﬁ-&f : §-AfeA

3) wifafe v fer siaRe stel-wde : $-wafe
4) 3-wRd fGEm

One of the major problems faced by the Planning Commission of the Government is
the large disparity in the data gathered from various regions in the states. Which of
the following recently developed IT projects may help the Planning Commission to
overcome this problem ?

(1) Sankhyikiya Patrika
(2) Online Geo-portal : e-MANCHITRA
(3) Sankhyikiya Patrika and Online Geo-portal : eeMANCHITRA

(4) E-file system

AT DHTS 57 / SPACE FOR ROUGH WORK

.P.T.O.




woo

114.

115.

36 A
GRS 3YCEE a7 R R ?

(1) 10 THEL.UH. ' (2) 100 TH.S.4.TH.

(3) 1000 THEL.H.wg. (4) 10000 TH.&.4.ug.

What is the speed of Fast Ethernet ? :

(1) 10 MBPS (2) 100 MBPS

(3) 1000 MBPS (4) 10000 MBPS

e fr fer wdie feemanfe seheq S da QU eTea 2

A N

1. few R

&, IR FHAIE

(1) 3 wd (2) T & ®ad  (3) N 3 & ®F  (4) 3, F JOTF

. Which services will be facilitated by the Vidyavahini project in Andaman and

Nicobar ?

a. e-procurement

b.  Grievance redressal

¢.  Weather information

(1) aonly (2) b andconly (3) a and c only (4) 'a,bandc

116.

ST ? |
1) uHEy 2) faagdd (3) Remaafaei 4) TAsE

Protection of data from a natural disaster is related to the following characteristic of
a network

(1) Performance (2) Security (3) Reliability (4) Management

117,

@Fﬂaﬁaﬁwa’ﬁﬁﬁaﬁaﬁﬁwwwﬁma@a7

(1) IRfas= mgd. F94 2) fEen ade dwedsr
@) R feda | (4) e T& a&

Which of the following items are related to “Video Analytics” ?

(1) Intelligent IP cameras (2) Video Analytics software
(3) Smart video servers (4) All the above items
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118. 8/FH HIMI Geeq MRd ?

(1) | 3nfer feeméa (2) Hfrtherafar sufor AT
(3) ST anfor Wi ‘ (4) EfSfeifar sufor dfadkeafar

' CAD/CAM is the inter-relationship between

(1) Marketing and Design (2) Manufacturing and Marketing
(3) Engineering and Ma‘rketing (4) Engineering and Manufacturing
119. FSIHT FUS
(1) TR I fefis famey a1 T s faefem g #irged
2 fooxt fOh offw offar Toex @
(3) wfem werd 3 1 Fer e
@ FE s A o T T e
Handshaking means
(1) exchange of predetermined signals by establishing contact between two
computers
(2) display refresh of all raster lines
(3) matching colors on a color terminal
(4) Z-plane on which an image is displayed
120, GRS FIA G SANTIA HIS STl S Afeet 39 ?ﬁﬁﬁa?ﬁﬁwwm

ARSI WS ArRar ? |
(1) 9RHE 2) Fiwe (3) FTPEHE (4) T &S

Which of the following two dimensional codes allow more storage of information and
widely used for marketing ?

(1) Barcode (2) Unicode (3) QRcode (4) ASCII code
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121, WENIY WEARAT ARSI’ §1 YHeued WIofidds! $oedl SUICA 39a] Hicrell T
T T g S SHaTl RO e U4 el IR ?
1) X T, §§
@) . ASFA Fics, I
(3) VST AEiwe Hio, IMEE

@) *HIT TTeE, g§s

Which of the following hospitals/colleges has been given dual responsibility to
coordinate between the specialist centres and patient centres for the Government of
Maharashtra’s Telemedicine project ?

(1) J.J. Hospital, Mumbai

(2) B.J. Medical College, Pune

(3) Government Medical College, Aurangabad
(4) KEM Hospital, Mumbai

122. YRG WHRET Hiorr fqum g o ofymaer e war ?
(1) feudle st wwiea dRmER |
2 feudie 3w solaeifed anfor sRiAvH SaTarst
3) feudde aifw ey =g anftr 3ma.d.
(4) feudde 3w Firger fNfaftr anfor emadl.
Which department of Government of India promotes Media Lab Asia ?
(1) Department of Electrical Engineering
(2) Department of Electronics and Information Technology
(3) Department of Computer Science and IT
(4) Department of Computer Engineering and IT

123. GAAE HIR HF.2).-gAace dar 18T ?

1) Zwa amfor giferefeR (2) T FINW T FHIGIF

(3) HgherlT (4) Tt @

Which of the following is not an IT-enabled service ?

(1) Travel and Hospitality (2) Health care and Pharmaceuticals
(3) Manufacturing (4) None of the above
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124, M UIE. BN
(1) FFE TST THHIH (2) BIIE TST FHRZFR
(3) I TSE THLHMH @) TatH T
CAI stands for
(1) Computer Aided Information (2) Computer Aided Infrastructure
(3) Computer Aided Instruction (4) None of the above

125. RS AT “TIOMIIT Sweude”’ T YRR Wreferdd $oet war ot At ?
(1) s W= 2) FreqEEEEl wed
(3 WE-FHWE W @) =a wd Far fear s

Which of the following services is not offered by the “Entrepreneurship development”
institute situated at Ahmedabad ?

(1) Funding (2) Incubation support
(3) Co-working space "~ (4) All the above services are offered

126, SESYE WEN-GI9E STMEER Wellerdd FIoil @A 3TRa 2
(1) ey faafaras s
@) FeafT feey
3) ¥ fay SHEdT ISR WA GRor
@) Tl wd

Which of the following is a challenge before multi-national IT industries ?
- (1) Nation-specific legal laws

(2) Anti-outsourcing policy

(3) Recruitment policy for optimum mix of employees

(4) All the above

127. THAYH, T T TR wet & AR FEEER 3.
1 TH (2) SThEHTH (3) WM (4) FFAaE
The layer is responsible for translation, compression and encryption.
(1) Session (2) Appiication (3) Presentation (4) Transport
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128.

40 A
oW AT A A T A S TAF A eaeREE el s
Tl ATETER EeRuErE G SRvaE A R ?
(1) IR R 2) T FgEm
@) ey oy 4) FSE HrEET

Every listed company in the share market needs to send printed copy of annual report
to each of its shareholders every year. Through which of the following initiatives, are
the shareholders requested to accept the reports electronically ?

(1) Paperless office (2) Green computing

(3) Electronic commerce (4) Cloud computing
129. HHREIN TR wU

(1) IRNIUSSE Ky I8 FMT 3% WA

(2) TR § WTeAsR BR THAT I

(3) SRAAIGH T A ®R H

4) i T AR

Software piracy means

(1) unauthorized duplication and copying of software

(2) installing the software for personal use

(8) downloading a program for free

(4) None of the above
130. 150 I ST STHUTAT TEET <] FEEAOAN, W WIS SNaae Qs

WA Fc T FET 3% bl 2

Q) ofefrye s=fama (2) T A
(3) 1 AT @) TIHETE Rma

The management of a 150-year-old organization would like to collect cultural changes
in the organization since its inception using documents available on its computers.
Which of the following techniques may be used for the same ?

(1) Artificial Intelligence (2) N-Gram Analysis
(3) Data Mining . (4) Information Retrieval
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41 wOoO

Tt B I ¥ g SR s W8 2

(1) EA Ifaua Gedid QU Mes F

(2) §T Rom= fohen AU e HO
(3) EST I YAl YIRS Y9G WA &) SIefu
(4) FECHE HEEAER A F AL R TRl

Which of the following is not the function of Dowry Prohibition Officer ?

| (1) Collect evidence necessary for prosecution

(2) Arrest accused for giving or taking dowry
(3) Prevent taking, demanding or abetting the taking of dowry
(4) See that provisions of the Act are complied with

132. TA TG AT W SRR FCEA FAHTER el 3.
(1) FoW 2(31) (2) &M 4(8) (3) &M 3(F) 4) Fm 23)
The definition of Human Rights under the protection of Human Rights Act is provided
under
(1) Section 2(a) (2) Section 4(d) (3) Section 3(b) (4) Section 2(d)
133. YR SfEEFTIE ®oW 23 T e IR,
(1) =HEgEE AfEER (2) fyrgomer sifteR
(3) Ui HSR | (4) eSS HEYRA Yl
Article 23 of the Indian Constitution deals with
1) Right to profession (2) Right to education
(3) Right to property (4) Freedom from forced labour
134, WETET et et st sicla afm feeft S,
1) ¥ 2) Y% auf
(3) A TG THA (4) N AT T
Awards under Mahatma Gandhi Dispute Free Village Mission are given
(1) quarterly (2) yearly
(3) once in two years (4) once in five years
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135. gSEdl AfufEm 1961 Siavia g1 U F UTATH Hivwen IR qwg IR ?
(1) Wel HigFudd SE™ 9 X 5,000 7 <€ |
@ A aufedq FREE T < 10,000 T < FRAT gSARY WA aidE ¥ 9 R A
(3) U FuiEr HREW & T 15,000 &8 a1 geATl WHW AGH F A @A I
(4) TqTIH FER AR
What is the penalty for giving or taking dowry as per Dowry Prohibition Act 1961 ?
(1) Imprisonment for six months or a fine upto ¥ 5,000

(2) Imprisonment extended upto two years and a fine upto ¥ 10,000 or the amount
of dowry whichever is more

(3) Imprisonment for a term upto five years and a fine of ¥ 15,000 or the amount of
dowry whichever is more

(4) None of the above

136. SfTUMEAT TEETE ERUER (1990) HIVA SRR TGHT FOAE ST 2
(1) TFHE TEe gF AN

(2) TP wfgen smEm
(3) T ArmEEg A
(4) TP S ST oMY S SART ST

Which Commission was established by the Constitution (Sixty-fifth) Amendment Act,
1990 ?

(1) National Human Rights Commission

* (2) National Commission for Women
(3) National Commission for Backward Classes

(4) National Commission for Scheduled Castes and Scheduled Tribes
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43 WOoo
SR TR TS9 Y SVl aed™ JHed g9 IrRed R R &% I 2
(1) Se@ =EeE (2) A ey

(3) W =T (4) Y9 T FECSIHSR]

At the district level, which court may be specified as Human Rights Court by State
Government ?

(1) District Court (2) Chief Judicial Magistrate

(3) Sessions Court (4) Judicial Magistrate First Class |
138, wafren sifam & Ay = Hewla TR

(1) U R (2) WRRAT FEHT

3) = fywmor wrEiEn (4) difyes fomemor wEsn

Sarva Shiksha Abhiyan is an

(1) Employment programme (2) Literacy programme

(3) Higher education programme (4) Technical education programme
139. TS e 3ifUSR Gaeear Taac! Hu- e :

& @ aE Ted

g, "W SRS

T TgEedl SIEEm

3. A g fves g

1) 49,8, A, = 2 H =, 49 T

B3 33 % € 9 4 9,7, F, T

Arrange the following human rights movements in chronological order :
a.  Bill of Rights

b. Magna Carta

c.  Roosevelt’s Proclamation

d. Universal Declaration of Human Rights

(1) b,d,ac (2) a,cb,d

3) acdb 4) b,a,cd
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140. Hfaurr I’ 21-% RmoTer o fhde guRer §R WHE He Ao 2
(1) vEdfe gERom, 2002 (2) TS YHRON, 1976
(3) THRTHEE FUR, 1978 (4) <EETE gEROT, 1990
By which amendment of the Constitution was Article 21-A ‘Right to Education’
inserted ?
(1) Eighty-sixth Amendment, 2002 (2) Forty-second Amendment, 1976
(3) Forty-fourth Amendment, 1978 (4) Sixty-fourth Amendment, 1990
141. Geiels Hor fum sa s ?
I, wmlgelmmﬁ%wmawawmm
9. ST AR R 3 WG T AT IR
(1) %K 3 TR AR T 9 gh TR (2) %I § aaX IR T 3 THA e
(3) o oMfoT 9 A= I R (4) 3 37 9. G TR MR
Which of the following statements are correct ?
a. Offences under Dowry Prohibition Act 1961 are non-bailable and
non-compoundable.
b. And such offences are non-cognizable and non-bailable.
(1) Only a is true and b is false (2) Only b is true and a is false
(3) Both a and b are false (4) Bothaandb ai'e true
142, TISE 3for onffs goe sfeamren v srme e S sRa ?
1) §m-III  (2) 9F-IV (3) 9€IM-V - (4) WMI-VI
Social and economic rights are incorporated in which Part of the Constitution ?
(1) Part-III (2) Part-IV (3) Part-V (4) Part-VI
143, IFYed STt 9 ITYad SR (IR Sfay) FEeamder S0 111 =
(1) STEER G =me (2) &I
3) TR Hewia fimm (4) foRiw —JmETeETA WA S
Chapter III of the SC/ST (Prevention of Atrocities) Act deals with
(1) definitions of atrocities (2) externment
(3) punishment for offences (4) constitution of special courts
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144. YT St & SYd SHIT (SRR Sfay) FRSIiaid -1 ST Hiord
v A 2 | |
(1) S SR Fgmfed SRE
(2) I S U@ 99 FRE™ 9 g8
(3) U FH T 99 9 KNG ed o aY HRE
(4) FHA F FEERA T TG S I9 9 FREW T §S

What is the punishment for offence of atrocities under the SC/ST (Prevention of
Atrocities) Act ?

(1) Imprisonment for maximum six months
(2) Imprisonment for maximum 1 year and fine
(8) Imprisonment for minimum one year and maximum two years

(4) Imprisonment for minimum 6 months and maximum 5 years and fine

145. HIV FEEAT “Yar WM &1 U Jeerd@ ahell IR 2

(1) T R e HufEm 1955

(2) WAl TST T

3) Ffom mERURE Afear @wm sfufm 2005

(4) demEl Sty 1961

In which legislation is the term “Service Provider” introduced ?
(1) The Protection of Civil Rights Act 1955

(2) The Constitution of India

(3) The Protection of Women from Domestic Violence Act 2005
(4) The Dowry Prohibition Act 1961

146. TEY HHEl 5% SN SUe e ST FUTHES @S A ?

(1) &% W&ER | (2) Wit 59 WER

@) T ()T (@) J 4) Fate FEE A

To whom does the National Human Rights Commission submit its annual report ?
(1) To the Central Government (2) To the State Government

(3) Both (1) and (2) (4) None of the above
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147. WiEA Hefoe FHERNG W01 FUIEEd (=9 2006 =T STURER 47 Siedl e

A, AYI-TH i T9Y99H

§.  AA-eH o g A

%, AA-AA i, HIEfAH T SEAA

3. AU iv. SRR SIS
a7 g % T

1) i iii ii iv

(2) iv ii i iii

(3) iii iv i ii

(4) ii iii iv i

Match the following based on protection of women from Domestic Violence Rules

2006 :

a. Form-I i.  Affidavit

b. Form-II ii.  Safety Plan

¢. Form-III iii. Domestic Incidence Repoﬁ

d. Form-V iv. Application to Magistrate
a b c d

1) i iii ii iv

(2) iv ii i 1ii

(3) iii iv i ii

4) ii iii iv i

148. TE TFF T HS WU Fdd Hed ? |
1) Y% N (2) qfe" AR
(3) W WA (4) SR A ferof

Where are ‘Human Rights Cells’ established ?

(1) At every Police Station (2) In the Police Headquarter

(3) Only in Metro cities (4) Only in Tehsil place
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149. g SEA A

. U A FHER N I 1950

g, SiHEr ‘R HE wW IL 1969

& IR gHa MR R III. 1949
3y C| &

1 I I I

2 I 1I I

(3) II I 111

(4 m I b

Match the following :

a. European Convention on I 1950
Human Rights

b. Geneva “Red Cross” Convention II. 1969

¢.  American Convention on : ITI. 1949
Human Rights

a b - c
1) 1 111 IT
(2) III I I
(3) 1II I 111
(4) 1II I I

150.

e BT SRTE A € SRR S 8% v At ?

(1) SAETET W (2) HqUEa &

(3) =R frare 4) TF FER

Which of the following cannot be a source of International Human Rights Law ?
(1) International treaties (2) International customs

(3) Judicial decisions (4) Municipal laws
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AT - (7% 1 &9 g6....)

8 WAYfaewer fafgq doewn fae IMie %9 &9 (T @) 6. SRAY s
ITIEFA A1 TR FIER Fod FH Fea| I F 0 A I IR, 3R AT
TEA 9 OHER SR WRAH SR doedr ‘wleimed dum=n o iy
FOTEETE  AYIH-82” AT TRAQTER FRATR SOOI 56 9 ot Fd A Th
aquTeAT FRERTAT 0T/ 6 ¥03 TH R A=A SoreAn R A fdel.

(9) wmmmmﬁmmamwm
TR U WIUA WA R, W TR aaie] SUagEl SHeaTt e
IARAGET ANT-1 FHAFERRS 7 [q@r oq &0 Navas e,

T ARH
T % 201, T A AT FOAEE T AT TS FA 2
(1) i gare S (2) I¥aER fFURTR
(3) TS UFHREA U4 (4) TMUSFET MER

| @TWWW“@)WMH@”aﬁa@,w@émmﬁw“@)”
e, e Wrefet T, 201 T s «@)r ¥ ads piv st e
Tl yEvaE IR,

w20, O @ @ .@

I USAH TG TYRabdd Y& YT {9 UGG @ R @dade
Taeiedr ITABRaE @1 W TRBRAEMRT HEEd ae Y S1ifehd $&A qrgaE.
YRl had HIeA VIEA Aieod Jd, GfFad a1 oge o aue 4.
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